
1.

2.

3.

4.

5.

6.

7.

8.

(C) ARgs
(E) qfRa uA

(E) 3rgfRd 1A

(A) atE

(E) qufkd HA

(A) 42
(C) 38
(E) qafk IN

(A)75,000
(C) T65,000
(E) 3rqfta 9A

a. HrG = ufa + 6

e. 4tae = 4+eT

(A) had a, b tr d

(B) hdd a, b,c sr d

(C) haet G, dstr e

(D)ha c 3tr e

(E) qfRa uA

(A) alATi
(C) faegargG
(E)347fd TN

(A)2023-24
(C) 2021-22
(E) gfka 1A

(B) H T

(D) 3f

(B) qá
(D)

(B) 44 T
(D)40 H

(B) 60,000
(D)70,000

b. ArerR=A:+ AR

(B) Žqarac
(D) feaIgca

(B) 2020-21

[A]

(D)2022-23

[D]

[C]

d. ry = 41+344

[AJ

[B]

[A)

[D]

9.
(off-terga) iMa ?

15.

(A) 8

(C)6
(E)34afa uN

(A)5

(C) 2

(E) 4qfA HA

(A)FH fte
(C) fazr f
(E) 3gfkA 9A

(E) 7afkaA IN

(A) lY
(B) H5UTT ucT
(C) fRr4
(D) 4T4IH

(A) E (1) TA Afha 5a (|))
(B) HYT () r Gha(II)

(C) Fe () 3tr GHYT (I)
(D) (I) H h h

(E) 4afta 9A

f TUTt?
(A) TU, HA
(B) aHI, aiItRT

(D) fecrt, HRd

(E) afkd 1N

(A) RT à. q4. afRyi
(B)

(B) 4

fatu Tda

(D)3

(E) gdfka 1A

(B) 4

(D) 3

(B) sRI
(D) 4GTH te

14. arg qUral chiCH (1QAir) qeTR, fag

HtBI
Teidi

(I1) TdI

[C]

[D]

[AJ

[AJ

[B]

[AJ

[B]

http
s:/

/w
ww.g

eniu
sja

nkari.
com

check

https://www.geniusjankari.com


16.

18.

Choose the most appropriate sequence of
complete the

19.

articles
sentence:
It is

business
organization.
(A) a,

(B)

(C)

(D) a,

(A) 34

(E)Question not attempted
17. Choose the most appropriate passive form

(B) 3
(C) 3a
(D)

to

of the given sentence. I don't like people
telling me what to do.
(A) I don't like being told what to do by

people

(A) a

(B) Idon't like being told by the people what
not to do.

(B) 34

with such

an

(C) People are being telling me which I don't
like

(D) Idon't like what to do by the people.
(E) Question not attempted

(C)¿a

a, an

(E) 3rqufa IA

(D) a

a. afàr
C. 5

an

e. 4

(E) 3qafkA AA

pleasure to do

(A) aa d sr a

(B) ha a si b

following

(C) hab tr d

efficient

(D) hdiC 3ÌR e

(E) 4qufkA 9A

[B]

b. atai
d. Hoft

[AJ

[AJ

[B]

[c]

21. r ta f T:

(E) 3rqufRA UN

(A) hgi a str e

(C) e a sir c

(E) 3gafka wA

(A) 784 363
(C) z 351

(E)gafka TA

(A) A foat
(C) affr ftua

(A) 60% T

(B) 85% THT

(C) 75% ATHIT

(D) 65% 1HT
(E) grfkd 1N

(B) 3 3IG4
(C) h JYIGT t

(B) hadb tr d

(D) hddc or e

(D) pet JIGT
(E) 1qufkd HA

(B) 7G 243
(D) g3< 281

(D)tRTcA tt

[D]

[B]

[C]

[B)

26. "trft shifa" iafta : (fH Hè Uyt
[C]

[B]
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29.

30.

32.

34.

(A) 3- fia
(B) $hte fr
(C)se ffAs fü
(D) tr te fir (Laserjet Printer)
(E) 3gfkd UM

(A) |

(C)=
(E) 34fR AA

yc Àsftr urH ?

(C) HYH YR qIZ
(E) gnfkd IA

(A)Elector
(C)Electrode

(E) 4afka NA

8

(A) 64
(C) 48

Electric, Elector, Elect, Election, Electrode

(E) 4qufR HA

(A) 28

7

30 K2Q3J 6T5 =?

(C) 35
(E) 3rqfkA IA

fRra?

A

" sr KaaT 32f"+ " RT, a

(C)
(B) 4gufkd IA

(B).
(D) *

ÇAYA iftse (MS Office)

(A) AISAfRua h

(E) 3rqtfkd IA

(B) A H AT3Cqh

(B) Electric
(D) Election

(B) 50
(D) 46

(B) 103

(D) 38

[C]

(B) 3HTGS
(D)3aR HeT

[c]

(D) sfušqA tus

[AJ

(B]

[D]

[A]

[B]

[B]

(B) T, TTG afeuft gd zfu-yfi ft àHI
(C)3A a ÀafG qat gfe 150 200 -aR A

(E)gfa uA

(A)At aT
(B) 3T6fGAI fAfa

(C) 4ufha Af
(D)ta rat

(E) qtfkd HN

37. ATA

(D)ftu faf fnt qa (Prgta)
(E) 4gafd NH

(E) qfk IA

(B) F4A (I) str
(C) 4 (I) 3tr h (II)

(II) t t

(E) 34qafkd uA

[C]

ali,
,
aR, AIGIqI, flealgI, SGUye, tR

ncdI

[C]

[D]

(B]

[D]
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40. 2011 â jum AR AHTTEYH

41.

(A) aIGR
(C) afHagI
(E) 3rqufka NA

(D) F4 (I) Htà fh het (II) Td I
(E) Hgafkd 1N

faa T ?
(A)142 t

(C) stsar ÁA
(E) 3gafA AN

(A) tà2T HUZdu
(C) yefat vzdur
(D) fzfhfRT taH

44. ffefa

(A) .mp3
(C) .wav

(E) qtfkd 4N
45. qfkafta f

(101110)2= (?)s
{3TTR 2

(A) (20) 8

(C) (48) 8

(E) 4afr IA

TTR 8}

(E)

(B) ||-R

(D) T

(C) 3qur (afti)
afkAIA

(B) frte Á
(D) 314THR sÍT

(B) 3fgfT AA
(E) qaftA NN

(B) .mid

aH at gagTadufaR

(D) rar

(B) (56)
(D) (30) :

[D]

(B) HTŽRT
(D) afat

[B]

[A)

[AJ

[D]

[B]

[D]

47. fafta a HHafaaR ATT

49.

52.

(B) HTA

(E) 3rqufkA NN

(A)IGY faurHusi (B) IVYyl
(C)ISY Jey yry (D) TI HGTR

(E) qfkd uA

(A) Iah 3U-yud

(D) aIG
(E) 4gafA HY

(A) fa
(C) fheri
(E) 4gafa IA

(A) sifsen
(C) ToRIG

(E) 34-fRd IA

(A) 60%
(C) S1%

(E)4gafA HA

(A) 3R HRT

(C) Ta
(E) Hqafka HA

(A)Td
(B) Hds
(C) GRHt
(D) ait
(E) qufkd uN

(B) STa

(D) aTftG

(B) TA

(D) afAtHI

(B) 45%
(D)55%

(B) zruru
(D) GRA

[C]

[D]

[B]

[B]

[D]

[D]

[C]

[AJ
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55.

58.

(A) 1/5 ai

59.

(C)1/3 ai
(E) qfkd uN

(A) FA (I) Td
(B) F (I) 3tr a (II)

(D)

(E) gfa yA
57. Art aya fg Tg:

(A) HFRIUTT fT

(A)F4T (I) TAfeh (II) af
(B) FYA () tr 5a (||) ¿Ì Htt1

(B) HFTTU| FIT

(I) 4ft fh AUa(II) Ted

(D) A (I) t fh h (II) 1eG
(E) 347fRA NA

(C) H3IRTUT HCh
(D) HRIU| AAT
(E) 31qufa wA

(A) 10

fi a

(B) 12

(B) 1/4 at

(D)3/4 ai

(C) 6

(MP) Htfta fhT IAI?

(D) 18

(1l)Ht1

I

(E) 4gafkd 1N

[A]

(B)

(B]

(B]

(A)fafes R

(C) aifTz et
(E) zfrA IA

61. fafaa Ä '
2023' A faqyatg t f?

(E) 4gfkA HA

(B) I It-yei qart

(C) 4. qH. AaI
(E) 4fA IA

(B) afa (šatea)

(A) fafe 3r 4T4 HAITY

(B) f arY

62. hRat 2024 fhe EYTA AHIflT à

(E) 3gfka NA

64. tyafy:

rfeh frA: ay z ,

(uHTuftchUr) u4, 2024 rI fsur 4r?

65. ty f y:

(B) Hr cAR

(B) (|) 3f hAA (||) Zt HtžI

r fTI

(D) (1) 4sià fo h (II) 1d 2I
(E) gtfk UA

[AJ

(A) F (I) Tetd? fh (II) HfiŽI
(B) FT (I) R4 (II)- HEII

(D)FA (1) #t2 fh H (|I) ea 1
(E) rgafta gA

[D]

[AJ

[D]

[B]

[D]
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68.

(E) gafa UN

67. ffafaa H arsT Yft â ?

69.

70.

(A) SFSI CI

72.

(A) yRI
(C) 3 HR

Choose the most appropriate meaning of
the idiom given below:

(A)Isin a painful condition

(D) Having a disease

His eldest son, a spendthrift, is a thorn in

his side.

(B)A constant source of annoyance to him
(C) An asset

(E) Question not attempted

(C) by

(B) AŽge fAza
(D) t I

(C) 3rfRty qIe
(E) 34fRa uA

(B)
(D) 3sarHI

Complete the given sentence by choosing
the most appropriate response from the
options given below:
He was reprimanded
biting his nails.
(A) to

(E)Question not attempted

?
(A) thsfta ZIG
(B) Ya qAH

(D) afy qt
(E) 4grtfkA HA

[C]

(B) 4, TH

(C)4;

[c]

(D)HAISR, tH
(E) 3rqfkd 9A

(B) for
(D) in

71. Afefaa "tR, g 1

[B]

his teacher for

[c]

[D]

[c]

B]

(A)&1. qeh. E. i

(E) rgfRa 9A

(A)Za

(E) quftd HA

fra Iqm?

75. fahfÌ acHT "EROZEN"

(A) OFPUMN
(C) OFUPNM
(E) 4qaftA nA

(A)17 ft
(C)26faf

(E) qafA UA

â
S,T

(B) T32ye 34chU

77. P, Q, R, S 3R T d R s

(A) R 3tTat

(B)

(D)

(B) Q 3tRS
(C)Q r Rà a

(D) S sr Tàa
(E) gafka HH

(E) qdfka 1A

(B) OFUMPN
(D) OFUPMN

[C]

"OFAPSG" ferst

(8) 34 fahft

(D) 24 fat

aRGIP, Q à HTY doT.R, S

Ts dsTIT

[D]

(B]

[C]
r HGcHIHG saR

Y STI
arg fAR y R

[C]

[D]
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80.

82.

(D)a-AcaI 3tRII 3qRU hdI

83.

(E) 34fRA HA

(A) afü Hf te
(B) ug AT

(D) ftre HTI AI
(E) 4qfka HM

81. fetfa fr rHGTG "HTT" AT45

faeug)

(C) HERI HATÉ AE

(A) I; fhll
(C) GTR fahel
(E) 3rqfta IN

(A) s HHAI

(E)4gtf HA

a. qt

e. HréGhH

(A)haa, c 3tr e

(C) hatc 3tR e

(E) qufkd 9A

(B) tEITG fhet
(D) sqTG fhoI

(B) HT ArI

b. gyr

d.Hu

[B]

(B) hia str c

(D) hada stt d

[B]

[B]

[B]

[D]

[C]

g?
(A) teitf HR

(B) Afa
(C) HAT G

(D) atha
(E) rgtfka HA

(A) TATH
(C) f3en
(E)gafta UA

fur
(A) H1Ata

RTYI

(E) gafA NY

87. 6 daR 1943 a, GIUrf weaatyun â,

88. t uafa T:

(B) fagR

(A)250

(D) 3R HeT

(B) h (I) 3f 5YA (I) H HÌi

(C) 100

(D) F4 (1) Hst fh h (II) TdI
(E) 34gfk IA

(B) u

(E) 4gufa uA

(B]

89. qf sfa fera A 2.5 ft 3k eis0.2 f

(B) 50

[A]

(D) 200

[D]

(B]

[D]
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90.

91.

sh4AT: 8 cm, 6 cmn 3ìr 4 cmi 6144 cm³ 34T4dA
y ifhtfa

(A) 34
(C) 36
(E) 3rqfa UA

(A)(9,30,6)
(C) (9,22,2)
(E) qafk IA

a. DIAFRY
C. DHAIOLY

(A) d

(C) b
(E) gafta UA

93. C, A sr B

D,
(A) AA
(B) 87
(C) teft/rt
(D) H

1 Hdu $?

(E) 4gfa IA
94. qft-I

d.

b. afa tst
c. af tst

s(fera) z?

(A) a-II, b-IV, c-III, d-I
(B) a-I, b-III, c-IV, d-I1

(A)CDMA

(B) DNS
(C) DTH

(C) a-III, b-IV, c-l, d-I[
(D)a-IV, b-III, c-II, d-I
(E) 4gafa 1A

(D) C-DOT

(B) 32

(E) 4zfA IA

(D) 28

(B) (5, 18, 4)

qet-II gefer AfY:
geft-II

(D) (7, 56, 4)

b. STEUDYA

d. ANDMYO
(B) a

AII yf& D.B H fatat C. AT

eR
ÍS RH IV. AG

(D) c

II. ta fafhoT

[B]

[D]

[D]

[A]

[c]

[C]

(E) gafta uA

MOUSE: KPSTC:: LIGHT:?
(A) JGEFR

(C)JEIR
(E) 34ufd uA

(?) TH R HTÇTtt

(C)

(O)

(E) gufta UN

too.

(I1)

(B)MJHV
(D) MGHEV

(A) utt

(i)

(C) state

(B)

(E) 4gufRd IA

(D)

(E) Question not attempted
100. ffafaa

99. Change the direct speech into indirect
speech by selecting the most tappropriate
option:
He said, Tam quite a good cook and I do all
my own washing and and mending too.'
(A)He said that he is quite a good cook and
he did allhis own washing and mending too.

(B) He said that he was quite a qood cook and
he did all his own washing and mendng too
(C) He informed that he is quite a good cook
and he can do all his own washing and
mending too.

?

(D) He said that he is quite a good cook and
he does all his own washing and mending

(iv)

[D]

(B) hegIA

[C]

(D) YIht

[C]

fT4T HheHA T?
[B]

[AJ
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(E) 3gtfkA IA

105.

(A) 30
(C) 50

(E) qfkd uN

(E) 3qafka HA

103. rfefaa aert feg TTFUH HRAR ZRI

(A) a, b,c 3ite d a

(C) raet b str c

(E) 47nf IN

(E)3gdrA UA

(D) TARAt yd yrdt

107. fr tya fy TY:

(B) 60
(D) 40

(A)ft etfls art gurt
(B) f

(E) qafka IA

b. gfaT YeIYA

(B) ata sr b

(D) haa a, b sir c

(C) F4A IGtr II - rHI

[AJ

[D]

[A]

[A]

[D]

[c]

[B)

TI

(A) F4 (I) Ted
(B) AYA () 3tr

(D) F (I) hy (II) TetdI
(E) 4gufA UA

(A) fafaaA
(C)HTT
(E) rqtfka HA

f FH (II) H I
(|I) tt HÌ1

(A) (I) r4A, Afeh h (II) HAI

(C) aA () Ar sAA(II)

(E) afr IA

(B) y
(D) =forg

(E) qfA IA

(D) FT (1) HYà, f ht (II) 3HAI
i

(B) H yA|I

[B)

[C)

[c]

[D]

[B]
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(A) RT Yd siterge

(E) 4grRA HA

114. "MATHEMATICAL" rac qf "MA" FA

(A) 16%

(C) 16 "o

3

(E) 3gtftA yA

(A) 8%
(C) 5%

(E) qfka IA

(A) 90.20
(C) 88.80
(E) qufRA UA

115. 'A''B' 600 < qt feg tr 'C' 200

(D)GYyR yd 31RI

(B) 20%

for

(D) 15%
3

(A) Authorization
(C) Arbitration

(B) 10%

(d) 4%

(B) 92.80
(D) 94.80

(B) For no reasons, you sit here.

117. Choose the most appropriate English
translation of the given sentence:

(A) Without any reason, you should not sit
here.

[B]

[C]

(C) For no reasons, you are sitting here.
(D) You are unnecessarily sitting here.
(E) Question not attempted

118. Choose the most appropriate English word

(B) Decision

[B]

(D) Adjudcation

[C]

(E) Question not attempted [D]

119. Choose the most appropriate style of
writing the subscription for a formal
letter:
(A)Yours' obediently (B) Your's obediently
(C) Your obediently (D) Yours obediently
(E) Question not attempted [D]

120. Prfafaa f fht t 'R fehe'

(A)3TR fehell

(C) T fhel
(E) 3rg1fk NN

(E) 3qufkA UA

(B) qut ryA

(D)

(E) qafka NA

(E) 3qfRa 9A

(A) aT HUIGA

(B) FYHI str II iHAI
(C) FA I 3R II zi r4II

(B) Ff
(C) arq
(D) r4qt

(B) GTR fhell

(E)gfa uA

(D) t fhc

(B) fRra qHTR HRu
(D) RU HRA

(A) 5A () Td? f A (|) 4u
(B) FYT (I) atr FYA (1) ttHAEI

[D]

(D) (I) #H h (II) dI
(E) 34afRA IA

[C]

[C]

[AJ

FYT (I): vfriHA HTUtT H1H 1952, 1962, 1971

[D]

[AJ
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(B) 4ft
(C) Herit

(E) gfkd HA

127. gst rT (2010) fafaftaš fart tefRat?
(A) HR

(E) 347fa UA

(A) ajereI T
(C)ufaT uf

(D) fRreT YAR

(B) ZUT Hr

[D]

(D) H taa

[B]

(E) 3qtfkA uA

Read the passage and answer the questions
that follow: (Que No: 129 to132)

[D]

The end of humanendeavour is happiness
and contentment. The advancement of
science has not been able to bring them
about. On the other hand, it has made our
lives complex and crooked. We can see with
alarm the unending war which science is

waging against literature and art. The realm
of poetry is being conquered day by day. The
soothing charms of Nature fly at the cold
touch of science. What a solace was there in

thinking of the silently shining stars, the
blessed candles of the night! What comfort is

now left to the average man to know that the
stars are but so many burning suns and the
rainbow of Wordsworth, at the sight of which
his heart leapt up with joy,a prism of colours!
The cheer and the charm are gone and the
dull fact remains.
Science',observes G.B. Shaw, 'never solves a

problem without creating ten more. But art
and literature are themselves the solution to

all our problems. All our worries leave us

amid the Soundingcataracts of Wordsworth,

the Skylark of Shelley and the Nightingale of
Keats. They are a rest to the weary, an

inspiration to the discouraged, sunshine to

the sad, and Nature's best antidote for
trouble.

129. The cheer and the charm of all humans are
gone because:
(A)Science fails to bring them satsfaction as
it has robbed nature of its charm
(B) Science solves all problems
(C) People don't enjoy Wordsworth, Shelley.

and Keats
(D) Nature is the best antidote for trouble
(E) Question not attempted

130. Identify most incorrect option from the
following:
Art and literature helps us:
(A) to make material progress in life.

(B)to solve all our problems
(C)to qive rest to the tired and bored.
(D)to prevent ourselves from trouble.
(E) Question not attempted

(A) Comfort in dst ress
(B)Effort

131. The most appropriate meaning of the word
'solace' is;

(C) Realm
(D) Contentment
(E) Question not attempted

132. Match List-I with List-II:
List-I

Words
a. Endeavour
b.Crooked

C. Cataracts
d. Antidote

(A) a-IV, b-lII, c-I, d-II

(B) a-I, b-II, c-III, d-IV

(C) a-III, b-l, c-IV, d-Ii
(D) a-IV, b-l, c-III, d-II

List-II
Synonyms

(B) 1t
(C) tàhas

I. Dishonest

(D)fsq-fzai

II. Anything that
prevents

Choose the most appropriate answer from
the options given below:

(E) 4zdfka IA

[AJ

III. Effort

(E) Question not attempted

[B]

[AJ

IV. Water that falls

133. ts qTUST, Afefaa fa ifeta itgHus
[C]

[C]
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(A)1932
(B) 1925

(C) 1928
(D) 1930
(E) 1gufka IN

135. BI fafea fterti fhe fAeH (HIMARS) I

(A)ft
(B)4 qH.

(C) GIYTH

(D) HRA

(E) 3rqfkd uN

(B) HlCH eft

136. 1943 fu3qA Ar4 Tff f ftz ât

(C) Fft Ar4g
(D) AIFRIA ABE
(E) 4grtfkA UA

137. 1859

(A) GiT aftu
(B) GH aáe

' Afrun 45 ftT aet RI

(D) Gf ta
(E) 3rqfka HA

(E) 3rfk NA

(A) rf=nfPa fatyu
(B) TUyarG fetg
(C) jTATrG fastqUT

(D)ufTUraTU fateU
(E) rgafk IN

140. ruHET Ä t- HHAH?

[C]

138. 1952 HefeaR ATUTGEy ATE: (T

(A)HÁTRU

(c) agátfe
(E) gafta UA

[B]

(B) 3Jfa
(D)&&

[AJ

[C]

(D]

(D]

[A]

141. R faetagaat 11.2 km/s t afasar t qet

(B)4afr à at yft

(E) gafA uN

(A) taRrd fu

(C) stegts fAAfu

(E)4gifA UN

(A)fausA fAfh
(B) 34T-ftazu affaut

(D) uGA; fh
(E) qafka 9A

144. Choose the most appropriate passive form
of the given sentence:

I didn't realise that somebody was
recording our conversation.

(C)

(A) Our conversation was being recorded by

somebody.
(B)Our conversation was being recorded and
it wasn't realised.

conversation was not realised.
Somebody was recording Our

(E) Question not attempted

(D) Ididn't realse that our conversation was

being recorded

the given expression:

[B]

[B]

() Dysphoria

[B]

145. Identify the word that can best substitute

A state of worry or géneral unhappiness.
(A)Dystopia (B) Dyxpraxia

(E)Question not attempted

(B)will find

(D) Dystrophy

(C) find

(D)founded

[C]

146. Choose the most appropriate word to
complete the given sentence:
If you a skeleton in the cellar,
don't mention it to anyone.
(A) willbe finding

(E)Question not attempted

[D]

[B]
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(A)nfds yifdur

(C) rfetas hfey
(D) ferch 3f@aR
(E) 4gfA AA

(A) fAst
(B) TATI
(C) Ru Rd

(E) rqfka UA

[B]

[B]

heT?
(A)yHyt (SSP)

(B) qHyH (NSS)

(C)HyYH T (NSSO)
(D) y4YHY(NSSA)

(E) afA NN

(B) rgu T
(C) ufa uth HT
(D)4hc 3AT4

(E) qtfta HA

[C]

[C]
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